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ASSOCIATESHIP EXAMINATION
' FIRE INSURANCE UNDERWRITING
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Answer EIGHT questions onty. Question ONE carries 16 marks but this is not
compulsory. All other questions carry. 12 marks each.
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1. - ‘Write a comprehensive note on Reinstatement Value policy. ; o 16
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2. Explaln how the principle of utmost good faith apphes durmg - 3 each

-a) the proposal stage.
b) risk inspection

~¢) Carrency of the policy.
d) "After a loss occurs.
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3. Compare and contrast combined policies and package policies avallable : 12‘4
in the UK. market -
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Discuss the cover under the fire policy in respect of :-- ‘ 4 each
a)  ‘Electrical risks’ of electrical equipment,

b) Architect’s Fees.

c) Temporary removal of property.
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a) Why is ‘Excess of loss reinsurance necessary in fire msurance" 6 each
b) How does the ‘excess of loss’ treaty operate?
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a) Whyis pro-rata aver age condition mcorporated in fire insurance 4
" . policies?

b) Ilustrate how the condition operates. 8
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. 'Mention the provisions of :- . ‘ 6 each

... a)  Agreed Bank Clause;
b)  Escalation clause.
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a) - Give any eight examples of Insurable properties.
b) - Give any eight examples of Insurable perils.
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Define warranty & give four examples of warranty.
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. Describe the following covers:-

a) Additional expenses of rent for alternate accommodation.
b) Silent Risk.

'c)  Spontaneous combustion.
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